1m

o

— o

o

o|

o] 30|

— [

olJ
™ o

(2)

@ 3.2 3 1.2 @ 2.2 ® 3.3

@D 3.1



BEo



o
ol
NI
A
—_

i
Xr
=
) 7 XN
i

© |0
i}

A=l Aol A AF 2 3371

7

St
H

Uch. #he e 9 vt ga

N









Sol How
R

o] =

FHAAE

2] F-SHA] 2

G



A2

5|

18 m? 2, HA 2| Holk @ m2elA] 7



3 1 3 1
@1 @20 @227 © 30

® 3711



o_e

Ot

el N=)

<t ©

<t 10 |00

N | <H©O |00

Q@ ©

— 10O |

A0 | O

©@ ©






2=

IR

B e 2 W 3ol oA L,

o A
— T

T

A
A

iy a1

AN
=



12. o&& A4t 2.







Ol

ol

o FLIE
X

<100[¥
@ ©

*x[O<|O

Ol<¥|D
© @



15.

wol7F 12m2¢Ql ¥

o) 94 HER

® 46m?

2
@ 49§ m2

_‘:\;ﬂ_;m

L



,mo



17. 2o So] 9l BEo| BA7} eikgwu}. o) Z% nHE Y B

o] nA} 2% kgo] E|Ql5UTh AA Bo] BAL B kg U7

> R kg



18. A28l Fol7} 31 em Q) AR o7k 47 m? AU ©] A4}

71g o] Selo] Aols T4 L.

B e



1
@ ®4§,
® @4?
® @45,

7 3
1|93
1
O 7 |G
5 | 2
15| 3

1 1

1

1—
© 221,©7

1—
®) 21,©5

1

3
1

2

2 1 1
OO
@ ®4§,©1ﬁ,©6§



20. g 4

tlo

B3, o] g PetA L.

o 42 AL _ol.5
e e

11 23 15 13 13
2= 22 = 2= 1=
© 2o @ 22 ® = @ 22 © 1o



K

= Zabq 1}
17t

A

270E
o

Neo ]

— |t
NS
1,,2
< o

> |00

[aNEE N

— |

> |00 | <F
e N8
— | <fO |00

Q@ ©

— N |0

<t O | D=

© @



22,

2 6,6,006,6
® 006,6,00

©6e06,0060
® ®0,.6,6,0
® 0,0, 00,0,



She | welE )

3

j—

3

Utk 1m? 9

23. 7187} 8w AEIF 12 me

1
12— L

T o]
=5

2
AU



24.

WOl 182 m? 91 M2 Al ol 5, 1.9l =7 A8

% gl 9o Yol ¥ m? QU7

1 1
® 19g m?

Ut



25.

O AttrelE ] ol

a4 2




o

¥r



g

— | <

=4

o] & 1em? 9] FA

sY

3

o

]

s
=50

FAZF 15.3kg <!

27.

Cm3



